import numpy as np
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x = tf.Variable([[1.. 1.5, 2.]], dtype=tf.float64)

¢Tape() as @ap<

with tf.Gradien
y — model(x)
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import numpy as np

import tensorflow as tf
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import tensorflow as tf

import numpy as np

model = tfkeras.models.load model('model perm f64.h5")
x = tf.Variable([[1., 1.5, 2.]], dtype=tf.float64)

with tf.GradientTape() as tape:
y = model(x)

grad = tape.gradient(y, x)
print(y.numpy(), grad.numpy())

h = le2

x1f = x + tf.Variable([[h,0,0]], dtype=tf.float64)
x2f = x + tf.Variable([[0,h,0]], dtype=tf.float64)
x3f = x + tf.Variable([[0,0,h]], dtype=tf.float64)
x1b = x - tf.Variable([[h,0,0]], dtype=tf.float64)
x2b = x - tf.Variable([[0,h,0]], dtype=tf.float64)
x3b = x - tf.Variable([[0,0,h]], dtype=tf.float64)

dx1 = (model(x1f) - model(x1b)) / (2.*h)
dx2 = (model(x2f) - model(x2b)) / (2.*h)
dx3 = (model(x3f) - model(x3b)) / (2.¥h)
print(dx1.numpy(), dx2.numpy(), dx3.numpy())
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AD_64 FD_64 Accuracy AD_32 FD_32 Accuracy
di
Ey 10.55335639 10.55335639 100.00% 10.872234 10.657883 98.03%
1
di
_dj 3.54598202 3.54598202 100.00% 3.3432283 3.252411 97.28%
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Ey 4.54459815 4.54459815 100.00% 4.8318615 47807693 98.94%
3
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